SOLUTIONS PROBLEMS REVIEW
(Chemistry 11)

Show ALL work and show ALL units.  Be careful of sig figs.
1. What mass of C5H11NO2 is contained in 83.5 mL of a 6.15M solution? 


2. 275.0 mL of a 0.054M solution of C3H8O3 contains how many molecules? 

 
3. A 1.20 L solution of aluminum hydroxide contains 25.6g of the solute. What is the concentration of the ions in solution? 








4. 525 mL of 0.555M Sn(SO4)2 is diluted with 125 mL of water.  What is the final concentration of the SO4-2 ion? 










5. Calculate the final [Na+] and [Cl-] ions when 25.0 mL of 6.30 M Na3PO4 and 38.0 mL of 2.00M NaCl are mixed. 










 
6. How much of a stock solution of 18.0M perchloric acid is needed to make a 750.0mL solution of 0.520M perchloric acid?









7. How would I make a 800.0mL solution of 0.600M nitric acid starting with the solid ionic compound?

ANSWERS:

1. 60.1 g C5H11NO2 (my mistake!  Thanks Frannie/Cassidy)
2. 8.94 x 1021 C3H8O3 Molecules 

3. 0.274 M [Al(OH)3]

4. 0.897 M [Sn(SO4)2]

5. [Na+] = 8.71 M [Cl-] = 1.21 M
6. 21.7 mL perchloric acid
7. need 31.2 g of H3NO3
a. Weigh 31.2 g of H3NO3 on a weight boat

b. Quantitatively transfer the H3NO3 to an 800.0 mL volumetric flask

c. Fill the volumetric flask half way and cap

d. Invert 10 x to mix

e. Fill Volumetric flask till the bottom of the meniscus sits on the 800.0 mL mark (DO NOT ADD 800.0 mL to the H3NO3)

f. Invert 10 x to mix

